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Ax = xp —x, =158.369 —0.000 = 158.369m
Ay =yp v, =16.942-0.000 =16.942m

558 p = J(Ax)? +(Ay)? =158.369% +16.9422 =159.273m

-1 16.942
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158.369 TR

Rfs=Z0AB = tan™! % =tan

(E) 5tE Q By TWDI7 A%

1. 58 AB J5if5
AE 3 = E, — E,, =202749.894—202679.441 = 70.453m>0

AN 5 = Ny — N, =2685540.782—2685611.749 = —70.967Tm<0 » LRI

70.453
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AE‘AB _ -1

0 =tan™ ‘ = 44°47"30"

AB

Fhif8 @, =180°— 0 =180°—-44°4730"=135°12'30"
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+AQ AT AB S A4 Al
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AQ = p=159.273m
Ny =N, +A0xc08¢,, =2685611.749+159.273x c0s129°06'08"= 2685511.295m
Ey=E, +AQxsing,, =202679.441+159.273x c0s129°06'08"= 202803.040m
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a’—y—ﬁ
P w20
Y tpr
_ph==
m| b (00)
_prd=b-r
l+p-r

3. SBIETEA A
B'(x,y)=(0,10) A A(x,y)=(-10,0)
C(x,y)=(10,0)
q=q, =80, s=5 =08, d=d =10,

/%
e ib

b=5/2=20/2=10 CET
o= 30x(10+10x0.8)  80x(10+8) 1440 _,) 15,
1+80x0.8 1+64 65
_80x0.8x10-10x08 _632_, ),
1+80x0.8 65

C'(x,y) = (22.154,9.723)
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E'(xay) = (098) , D(xay) = (_990) , F(x:'y) = (950)

q=9,=90, s=s,=1, d=d,=8, b=b,/2=9
x_90><(8+9x1)_90><17_1530
1+90x1 1+90 91

_90x1x8-9x1 _ 711 _ o1 F'(x,y)=(16.813,7.813)
1+90x1 91

5. SBIEHE LA
p=p =50 r=rn=05 d=d =10 b=5b/2=20/2=10

=16.813m

. 50x(10+10x0.5) _ 50x(10+5) _ 750

= 28.846m
1+50%0.5 1425 26
_50x0.5x10-10x0.5 245 _ o 0 A4'(x,y) = (—28.846,-9.423)
14+50%0.5 26
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. _100x(8+9x0.5) _100x12.5 _ 1250
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1+100x0.5 1+50 51
_ 100x0.5x8—-9x%0.5 _ 395.5 7 755m - D'(x,y) = (-24.510m,~7.755m)
1+100x0.5 51
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x -10 10 22.154 0 -28.846
y 0 0 9.723 10 -9.423
=10 10 22,154 0 -28.846 -10 )
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5 7x(256.505+165.553) =4220.58m> ~ 4221m’

ZXIHRARIETE  FEEA BRI BARTHE @R R 0 SR
B A 4 GNSS H: iRl BT 235% 0 BERRAWBERBAEN A B C =18
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L5885 a- ¢CA

AE. =FE,—E.=2113.687-2600.728 =-487.041m <0
AN¢y =N, — N =3946.994-3882.789=64.205m >0

BIVRIR

a=1J(~487.041) +64.205 = 491.255m

—487.041
64.205

AE‘CA v

O =tan"! n'

‘ =82°29'25" »

CA
Py =360°—0 =360°—82°29'25"=277°30'35"

2 stEp. fos
AEy = E, — E. =3040.105—2600.728 = 439.377m > 0
AN = Ny — N, = 4194.663~3882.789 = 311.874m > 0

b=1/439377> +311.874> =538.811m

AE 439.
$op =tan” — L =tan™! 39377 _ sqo37157n
AN 311.874

3. y= ¢CA B ¢CB =277°30'35"-54°37'57"=222°52'38"

o) O+$=360°—(ar+ B+y)=360°—(19°1929"+15°1531"+222°5238") =102°3222"

axsinf  491.255xsin15°15'31"

= » 4 =35°56'44"
bxsinag 538.811xsin19°1929"

tan A =

102°3222"

tan ¢ ; 0. tan(A —45°)x tan ¢ er 0. tan(35°56'44"-45°)x tan

e ¢—0=-22°2834" 7 ¢+6=102°32722"

ki

fﬁa"— ¢ = 40001‘54” 0 — 62030!28"
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7, =180°—0—a =180°~62°3028'-19°1929"=98°1003"
Psp = Pps — 71 = 210°1025"-69°5745"=140°12'40"

a-sinf 491.255xsin 62°3028"

CP="
Smao

sin19°1929"

=1316.866m

Ep=E. +CPxsin @cp =2600.728+1316.866x51n179°20'32"=2615.846m

Np=N, +CPx cos@p =3882.789+1316.866x cos179°20'32"=2566.010m
.perage P(Ep,Np)=(2615846m,2566.010m)
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D41 - 415 PB =224.3601m , PC =232.0564m
KIEF zpy =90°2259.0" » zpe =75°23'54.8"
) st H = BC
1.PEAIC > 1§52 Hi > JB8E D
H, = PC-c08zp. = 232.0564x c0s 75°23'54.8"= 58.5000m
D, = PC-sin zp- = 232.0564 xsin 75°23'54.8"= 224,56 16m
2. PR B BEEH, » IBHE D2
H, = PB-c0szp; = 224.3601x0$90°22'59.0"= ~1.5000m 5+,
D, = PB-sin zp,; = 224.3601x5in 90°22'59.0"= 224.355 1m

3. sH&ES H = BC = H, +(—H,) = 58.5000+1.5000 = 60.0000m

(5) 518 C.B FrI(xy) 215

Bz« POp.yp) =(00) | 512 Ppg = 0°00'00"
L 5t5 C HALE
AC KB 6, =11°34'03.3"-0°0020.5"=11°3342.8" » 75fH ¢, =6, =11°33'42.8"
Xe =xp+D,-sing, =0.000+224.5616xsin11°33'42.8"=45.0081m
Yo =yp+D,-cosg,=0.000+224.5616 x cos11°33'42.8"=220.0049m
2. 5% B B
AB KEE 6, =11°34'34.6"-0°0020.5"=11°3414.1" | TR
d.5 =6, =11°3414.1"
Xg=xp+D,-sing,, =0.000+224.3551xsmn11°34'14.1"=45.0000m
Vg =yp+D,-cosg,, =0.000+224.3551xcos11°34'14.1"=219.7958m
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Ax =xp —x5 =45.0081-45.0000 = 0.0081m

Ay =y — v, =220.0049—219.7958 = 0.2091m

0.0081

Ax
SARBERE=—x100% = 100% =0.0135% ([A x BY1ETR
£ x TRRMARIE fite °= 20,0000 0 o ([A) x AYIEM)

0.2091
60.0000

x100% = 0.3485% ([ y BIIEM)

A
1Ey ﬁﬁﬁ%ﬁ?ﬁ#fﬁz% «100% =
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